Filomat 32:8 (2018), 2825–2836 https://doi.org/10.2298/FIL1808825M



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Two Dimensional Operator Preinvex Functions and associated Hermite-Hadamard type Inequalities

Marcela V. Mihai^a, Muhammad Uzair Awan^b, Muhammad Aslam Noor^c, Ting-Song Du^d, Awais Gul Khan^e

^aDepartment scientific-methodical sessions, Romanian Mathematical Society-branch Bucharest, Academy Street no. 14, RO-010014, Bucharest, Romania

^bMathematics Department, GC University, Faisalabad, Pakistan. ^cMathematics Department, COMSATS University Islamabad, Park Road, Islamabad, Pakistan. ^dDepartment of Mathematics, College of Science, China Three Gorges University, Yichang 443002, Hubei, P. R. China. ^eMathematics Department, GC University, Faisalabad, Pakistan.

Abstract. We first introduce the notion of operator (h_1, h_2) -preinvex on the co-ordinates. After this some new two dimensional version of integral inequalities of Hermite-Hadamard type associated with this new class of operator (h_1, h_2) -preinvex are obtained. Some new and novel particular cases are also discussed.

1. Introduction

A set $\mathcal{K} \subset \mathbb{R}$ is said to be convex, if

 $ta + (1 - t)b \in \mathcal{K}, \quad \forall a, b \in \mathcal{K}, t \in [0, 1].$

A function $f : \mathbb{K} \to \mathbb{R}$ is said to be convex, if

$$f(ta + (1 - t)b) \le tf(a) + (1 - t)f(b), \quad \forall a, b \in \mathcal{K}, t \in [0, 1].$$

It has been observed that in recent decades the classical notion of convexity has been extended and generalized in different directions. For example see [1, 2, 4, 6, 7, 10–13, 15–19] and the references therein. The relation between theory of convexity and theory of inequalities attracted many researchers to study these theories in depth. Consequently many inequalities have been obtained via convex functions and via its variant forms. For more information readers are referred to [4].

Let $f : \mathcal{I} = [a, b] \subset \mathbb{R} \to \mathbb{R}$ be a convex function, the following inequality

$$(b-a)f\left(\frac{a+b}{2}\right) \leq \int_{a}^{b} f(x)dx \leq (b-a)\frac{f(a)+f(b)}{2},$$

Keywords. Co-ordinated convex functions; operator preinvex; Hermite-Hadamard inequality.

Received: 21 June 2017; Accepted: 19 August 2017

noormaslam@hotmail.com (Muhammad Aslam Noor), tingsongdu@ctgu.edu.cn (Ting-Song Du), awaisgulkhan@gmail.com (Awais Gul Khan)

²⁰¹⁰ Mathematics Subject Classification. 15A45; 15A46; 15A47; 47A63; 26B25; 26D15; 26A51

Communicated by Fuad Kittaneh

Corresponding Author: Muhammad Uzair Awan

Email addresses: marcelamihai58@yahoo.com (Marcela V. Mihai), awan.uzair@gmail.com (Muhammad Uzair Awan),

holds. This result is due to Hermite and Hadamard independently and is known as Hermite-Hadamard's inequality. This result provides us a necessary and sufficient condition for a function to be convex. Inspired by the ongoing research, we derive some new extensions of two dimensional Hermite-Hadamard inequalities via operator (h_1 , h_2)-preinvex functions on the co-ordinates. Some new special cases are also discussed. This is the main motivation of this paper. The ideas and techniques of this paper may stimulate future research in this direction.

2. Preliminaries

In this section, we discuss some previously known concepts. From [2], let us consider a bidimensional interval $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2$ with a < b and c < d. A function $f : \Delta \to \mathbb{R}$ is said to be convex function on Δ , if the following inequality

$$f(tx + (1 - t)z, ty + (1 - t)w) \le tf(x, y) + (1 - t)f(z, w)$$

holds, for all $(x, y), (z, w) \in \Delta$ and $t \in [0, 1]$. A function $f : \Delta \to \mathbb{R}$ is said to be convex on the co-ordinates on Δ , if the partial functions $f_y : [a, b] \to \mathbb{R}$, $f_y(u) = f(u, y)$ and $f_x : [c, d] \to \mathbb{R}$, $f_x(v) = f(x, v)$ are convex for all $x \in [a, b]$ and $y \in [c, d]$.

Definition 2.1. Consider a rectangle $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$. A function $f : \Delta \to \mathbb{R}$ is said to be convex on the co-ordinates function on Δ , if

$$f(tx + (1 - t)y, ru + (1 - r)w) \le trf(x, u) + t(1 - t)f(y, u) + (1 - t)(1 - r)f(y, w),$$
(2.1)

whenever $x, y \in [a, b], u, w \in [c, d]$ *and* $t, r \in [0, 1]$ *.*

Definition 2.2. [13] Let $(u, v) \in X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$. We say $X_1 \times X_2$ is invex at (u, v) with respect to η_1 and η_2 if for each $(x, y) \in X_1 \times X_2$ and $t_1, t_2 \in [0, 1]$

$$(u + t_1\eta_1(x, u), v + t_2\eta_2(y, v)) \in X_1 \times X_2.$$

We also need the following assumtion regarding the function η which is due to Mohan and Neogy [14]. **Condition C**. Let $X \in \mathbb{R}$ be an open invex subset with respect to η . For any $x, y \in X$ and $t \in [0, 1]$

$$\eta(y, y + t\eta(x, y)) = -t\eta(x, y); \eta(x, y + t\eta(x, y)) = (1 - t)\eta(x, y).$$

Definition 2.3 ([13]). Let h_1 and h_2 be non-negative functions on [0, 1], $h_1 \neq 0$, $h_2 \neq 0$. The non-negative function $f : X_1 \times X_2 \rightarrow \mathbb{R}$ is said to be (h_1, h_2) -preinvex on the co-ordinates with respect to η_1 and η_2 if

$$f(x + t_1\eta_1(b, x), f(x + t_2\eta_2(d, y)))$$

$$\leq h_1(1 - t_1)h_2(1 - t_2)f(x, y) + h_1(1 - t_1)h_2(t_2)f(x, d) + h_1(t_1)h_2(1 - t_2)f(b, y)$$

$$+ h_1(t_1)h_2(t_2)f(b, d).$$
(2.2)

Remark 2.4. Note that if $\eta_1(b, x) = b - x$, $\eta_2(d, y) = d - y$ and $h_1(t) = h_2(t) = t$, then the definition of a co-ordinates (h_1, h_2)-preinvex function reduces to the definition of a convex function on the co-ordinates proposed by Dragomir [2]. Moreover, if $h_1(t) = h_2(t) = t^s$, then definition reduces to the definition of an s-convex function on the co-ordinates proposed by Alomari and Darus [1].

Definition 2.5 ([10]). Consider $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$. A function $f : \Delta \to \mathbb{R}$ is said to be s-preinvex on the co-ordinates function on Δ , where $s \in (0, 1]$ if

$$f(x + t\eta_1(y, x), u + r\eta_2(w, u))$$

$$\leq (1 - t)^s (1 - r)^s f(x, u) + (1 - t)^s r^s f(x, w) + t^s (1 - r)^s f(y, u) + t^s r^s f(y, w),$$
(2.3)

whenever $(x, u), (x, w), (y, u), (y, w) \in \Delta$ *and* $t, r \in [0, 1]$ *.*

Note that, if s = 1 in above definition we have definition of preinvex on the co-ordinates functions.

Definition 2.6 ([9]). Consider $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$. A function $f : \Delta \to \mathbb{R}$ is said to be preinvex on the co-ordinates function on Δ , if

$$f(x + t\eta_1(y, x), u + r\eta_2(w, u))$$

$$\leq (1 - t)(1 - r)f(x, u) + (1 - t)rf(x, w) + t(1 - r)f(y, u) + trf(y, w),$$
(2.4)

whenever $(x, u), (x, w), (y, u), (y, w) \in \Delta$ *and* $t, r \in [0, 1]$ *.*

To investigate the operator version of the Hermite-Hadamard inequality associated with operator (h_2, h_2) -preinvex functions we need the following preliminary definitions and results.

We now review the operator order in B(H) which is the set of all bounded linear operators on a Hilbert space $(H; \langle ., . \rangle)$, and the continuous functional calculus for bounded self adjoint operator. For self adjoint operators $A, B \in B(H)$, we write

$$A \leq B$$
 if $\langle Ax, x \rangle \leq \langle Bx, x \rangle$,

for every vector $x \in H$, we call it operator order. The set of all self adjoint elements in B(H) is denoted with $B(H)_{sa}$.

Let *A* be a bounded self adjoint linear operator on a complex Hilbert space $(H; \langle ., . \rangle)$. The Gelfand map establishes a \star -isometrically isomorphism Φ between the set C(Sp(A)) of all continuous functions defined on the spectrum of *A*, denoted Sp(A), and the C^{\star} -algebra $C^{\star}(A)$ generated by *A* and the identity operator 1_H on *H* as follows(see for instance [5]). For any $f, g \in C(Sp(A))$ and any $\alpha, \beta \in \mathbb{C}$ we have

1. $\Phi(\alpha f + \beta g) = \alpha \Phi(f) + \beta \Phi(g);$ 2. $\Phi(fg) = \Phi(f)\Phi(g) \text{ and } \Phi(f^*) = \Phi(f)^*;$ 3. $\| \Phi(f) \| = \| f \| := \sup_{t \in Sp(A)} |f(t)|;$ 4. $\Phi(f_0) = 1 \text{ and } \Phi(f_1) = A$, where $f_0(t) = 1 \text{ and } f_1(t) = t$, for $t \in Sp(A)$.

With this notation we define

$$f(A) := \Phi(f)$$
 for all $f \in C(Sp(A))$,

and we call it the continuous functional calculus for a bounded selfadjoint operator *A*. If *A* is a bounded selfadjoint operator and *f* is a real valued continuous function on Sp(A), then $f(t) \ge 0$ for any $t \in Sp(A)$ implies that $f(A) \ge 0$, i.e., f(A) is a positive operator on *H*. Moreover, if both *f* and *g* are real valued functions on Sp(A) then the following important property holds:

$$f(t) \ge g(t)$$
 for any $t \in Sp(A)$ implies that $f(A) \ge g(A)$,

in the operator order in B(H).

A real valued continuous function f on an interval I is said to be operator convex function, if

$$f(tA + (1 - t)B) \le tf(A) + (1 - t)f(B),$$

in the operator order, for all $t \in [0, 1]$ and for every self adjoint operator A and B on a Hilbert space H whose spectra are contained in I. For more information, see [5].

Dragomir in [3] has proved a Hermite-Hadamard type inequality for operator convex function as follows:

Theorem 2.7. Let $f : I \to \mathbb{R}$ be an operator convex function on the interval *I*. Then for any selfadjoint operators *A* and *B* with spectra in *I* we have the inequality

$$f\left(\frac{A+B}{2}\right) \le \frac{1}{2} \left[f\left(\frac{3A+B}{4}\right) + f\left(\frac{A+3B}{4}\right) \right]$$

$$\le \int_0^1 f((1-t)A + tB) dt \le \frac{1}{2} \left[f\left(\frac{A+B}{2}\right) + \frac{f(A) + f(B)}{2} \right] \le \frac{f(A) + f(B)}{2}.$$
(2.5)

For the reader's convenience, we recall the definitions of the Gamma function $\Gamma(.)$ and Beta function $\mathbb{B}(.,.)$ respectively.

$$\begin{split} \Gamma(x) &= \int_0^\infty e^{-x} t^{x-1} \mathrm{d}t, \\ \mathbb{B}(x,y) &= \int_0^1 t^{x-1} (1-t)^{y-1} \, \mathrm{d}t. \end{split}$$

It is known that [8]

$$\mathbb{B}(x,y) = \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)}.$$

3. New Notions

We are now in a position to define new notion of (h_1, h_2) -preinvex functions on co-ordinates and also discuss special cases.

Definition 3.1. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the continuous function $f : \Delta \rightarrow \mathbb{R}$ is said to be operator (h_1, h_2) -preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 if for every $A, B \in X_1$ and $C, D \in X_2$ and $t, \lambda \in [0, 1]$

$$f(A + t\eta_1(B, A), C + \lambda\eta_2(D, C)) \leq h_1(1 - t)h_2(1 - \lambda)f(A, C) + h_1(1 - t)h_2(\lambda)f(A, D) + h_1(t)h_2(1 - \lambda)f(B, C) + h_1(t)h_2(\lambda)f(B, D),$$
(3.1)

in the operator order in $B(\mathbb{R}^n)_{sa} \times B(\mathbb{R}^n)_{sa}$.

We now discuss some special cases:

- 1. For $h_1(t) = t^s$ and $h_2(\lambda) = \lambda^s$ we have Definition 3.2 of Breckner type of operator *s*-preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 .
- 2. For $h_1(t) = t$ and $h_2(\lambda) = \lambda$ we have Definition 3.3 for operator preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 .
- 3. For $h_1(t) = t^{-s}$ and $h_2(\lambda) = \lambda^{-s}$ we have Definition 3.4 of Godunova-Levin type of operator *s*-preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 .
- 4. For $h_1(t) = 1$ and $h_2(\lambda) = 1$ we have Definition 3.5 of operator *P*-preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 .

Definition 3.2. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the continuous function $f : \Delta \rightarrow \mathbb{R}$ is said to be Breckner type of operator s-preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 if for every $A, B \in X_1$ and $C, D \in X_2$, $t, \lambda \in [0, 1]$ and $s \in (0, 1]$, the following inequality holds

$$f(A + t\eta_1(B, A), C + \lambda\eta_2(D, C)) \leq (1 - t)^s (1 - \lambda)^s f(A, C) + (1 - t)^s \lambda^s f(A, D) + t^s (1 - \lambda)^s f(B, C) + t^s \lambda^s f(B, D))$$

in the operator order in $B(\mathbb{R}^n)_{sa} \times B(\mathbb{R}^n)_{sa}$.

If s = 1 we have definition of operator preinvex on the co-ordinates.

Definition 3.3. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the continuous function $f : \Delta \rightarrow \mathbb{R}$ is said to be operator preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 if for every $A, B \in X_1$ and $C, D \in X_2$ and $t, \lambda \in [0, 1]$, the following inequality holds

$$\begin{split} &f\left(A+t\eta_1(B,A),C+\lambda\eta_2(D,C)\right)\\ &\leq (1-t)(1-\lambda)f(A,C)+(1-t)\lambda f(A,D)+t(1-\lambda)f(B,C)+t\lambda f(B,D), \end{split}$$

in the operator order in $B(\mathbb{R}^n)_{sa} \times B(\mathbb{R}^n)_{sa}$.

Definition 3.4. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the continuous function $f : \Delta \rightarrow \mathbb{R}$ is said to be Godunova-Levin type of operator s-preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 if for every $A, B \in X_1$ and $C, D \in X_2$, $t, \lambda \in (0, 1)$ and $s \in [0, 1]$, the following inequality holds

 $f(A + t\eta_1(B, A), C + \lambda\eta_2(D, C))$ $\leq (1 - t)^{-s}(1 - \lambda)^{-s}f(A, C) + (1 - t)^{-s}\lambda^{-s}f(A, D)$ $+ t^{-s}(1 - \lambda)^{-s}f(B, C) + t^{-s}\lambda^{-s}f(B, D),$

in the operator order in $B(\mathbb{R}^n)_{sa} \times B(\mathbb{R}^n)_{sa}$.

Definition 3.5. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the continuous function $f : \Delta \rightarrow \mathbb{R}$ is said to be operator *P*-preinvex on the co-ordinates with respect to η_1 on X_1 and η_2 on X_2 if for every $A, B \in X_1$ and $C, D \in X_2$ and $t, \lambda \in [0, 1]$, the following inequality holds

 $f(A + t\eta_1(B, A), C + \lambda\eta_2(D, C)) \le f(A, C) + f(A, D) + f(B, C) + f(B, D),$

in the operator order in $B(\mathbb{R}^n)_{sa} \times B(\mathbb{R}^n)_{sa}$.

4. Results and Discussions

In this section, we derive our main results.

Lemma 4.1. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the function $f : \Delta \rightarrow \mathbb{R}$ be a continuous function. Suppose that η_1 and η_2 satisfy condition (C) on X_1 and on X_2 respectively. Then for every $A, B \in X_1$ and $V = A + \eta_1(B, A)$, $C, D \in X_2$ and $W = C + \eta_2(D, C)$ the function f is operator (h_1, h_2) -preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} if and only if the function

$$\varphi_{x,A,B,C,D}(t,\lambda) = \langle f(A + t\eta_1(B,A), C + \lambda\eta_2(D,C)) x, x \rangle$$
(4.1)

is (h_1, h_2) -convex on the co-ordinates on $[0, 1]^2$ for every $x \in H$ with ||x|| = 1.

Proof. Suppose that *f* is operator (h_1, h_2) -preinvex on the co-ordinates for operators $[A, B] = \{A + t\eta_1(B, A)\} \times$

 $[C, D] = \{C + \lambda \eta_2(D, C)\}$. Then for any $t_1, t_2, \lambda_1, \lambda_2 \in [0, 1]$ and $\alpha_i, \beta_i \ge 0$ with $\alpha_i + \beta_i = 1$ for i = 1, 2 we drive

$$\begin{split} \varphi_{x,A,B,C,D}(\alpha_{1}t_{1} + \beta_{1}t_{2}, \alpha_{2}\lambda_{1} + \beta_{2}\lambda_{2}) \\ &= \langle f\left(A + (\alpha_{1}t_{1} + \beta_{1}t_{2})\eta_{1}(B,A), C + (\alpha_{2}\lambda_{1} + \beta_{2}\lambda_{2})\eta_{2}(D,C)\right)x, x \rangle \\ &= \langle f\left(\alpha_{1}\left(A + t_{1}\eta_{1}(B,A)\right) + \beta_{1}\left(A + t_{2}\eta_{1}(B,A)\right), \\ \alpha_{2}\left(C + \lambda_{1}\eta_{2}(D,C)\right) + \beta_{2}\left(C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &\leq h_{1}(\alpha_{1})h_{2}(\alpha_{2})\langle f\left(A + t_{1}\eta_{1}(B,A), C + \lambda_{1}\eta_{2}(D,C)\right)x, x \rangle \\ &+ h_{1}(\alpha_{1})h_{2}(\beta_{2})\langle f\left(A + t_{2}\eta_{1}(B,A), C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &+ h_{1}(\beta_{1})h_{2}(\alpha_{2})\langle f\left(A + t_{2}\eta_{1}(B,A), C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &+ h_{1}(\beta_{1})h_{2}(\beta_{2})\langle f\left(A + t_{2}\eta_{1}(B,A), C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &= h_{1}(\alpha_{1})h_{2}(\alpha_{2})\varphi_{x,A,B,C,D}(t_{1},\lambda_{1}) + h_{1}(\alpha_{1})h_{2}(\beta_{2})\varphi_{x,A,B,C,D}(t_{1},\lambda_{2}) \\ &+ h_{1}(\beta_{1})h_{2}(\alpha_{2})\varphi_{x,A,B,C,D}(t_{2},\lambda_{1}) + h_{1}(\beta_{1})h_{2}(\beta_{2})\varphi_{x,A,B,C,D}(t_{2},\lambda_{2}). \end{split}$$

It shows that $\varphi_{x,A,B,C,D}$ is (h_1, h_2) -convex on the co-ordinates on $[0, 1]^2$. Let now $\varphi_{x,A,B,C,D}$ is (h_1, h_2) -convex on the co-ordinates on $[0, 1]^2$ and $C_1 := A + t_1\eta_1(B, A) \in P_{AV}$, $C_2 := A + t_2\eta_1(B, A) \in P_{AV}$, $D_1 := C + \lambda_1\eta_2(D, C) \in P_{CW}$, respectively $D_2 := C + \lambda_2\eta_2(D, C) \in P_{CW}$. Fixed $\alpha, \beta \in [0, 1]$. By (4.1)

$$\langle f(C_1 + \alpha \eta_1(C_2, C_1), D_1 + \beta \eta_2(D_2, D_1)) x, x \rangle = \langle f(A + (\alpha t_2 + (1 - \alpha)t_1)\eta_1(B, A), C + (\beta \lambda_2 + (1 - \beta)\lambda_1)\eta_2(D, C)) x, x \rangle = \varphi_{x,A,B,C,D}(\alpha t_2 + (1 - \alpha)t_1, \beta \lambda_2 + (1 - \beta)\lambda_1) \leq h_1(1 - \alpha)h_2(1 - \beta)\varphi_{x,A,B,C,D}(t_1, \lambda_1) + h_1(1 - \alpha)h_2(\beta)\varphi_{x,A,B,C,D}(t_1, \lambda_2) + h_1(\alpha)h_2(1 - \beta)\varphi_{x,A,B,C,D}(t_2, \lambda_1) + h_1(\alpha)h_2(\beta)\varphi_{x,A,B,C,D}(t_2, \lambda_2) = h_1(1 - \alpha)h_2(1 - \beta)\langle f(A + t_1\eta_1(B, A), C + \lambda_1\eta_2(D, C)) x, x \rangle + h_1(\alpha)h_2(1 - \beta)\langle f(A + t_2\eta_1(B, A), C + \lambda_2\eta_2(D, C)) x, x \rangle + h_1(\alpha)h_2(\beta)\langle f(A + t_2\eta_1(B, A), C + \lambda_2\eta_2(D, C)) x, x \rangle + h_1(\alpha)h_2(\beta)\langle f(A + t_2\eta_1(B, A), C + \lambda_2\eta_2(D, C)) x, x \rangle = h_1(1 - \alpha)h_2(1 - \beta)\langle f(C_1, D_1) x, x \rangle + h_1(1 - \alpha)h_2(\beta)\langle f(C_1, D_2) x, x \rangle + h_1(\alpha)h_2(1 - \beta)\langle f(C_2, D_1) x, x \rangle + h_1(\alpha)h_2(\beta)\langle f(C_2, D_2) x, x \rangle.$$

Hence, *f* is operator (h_1 , h_2)-preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and respect to η_2 on η_2 -path P_{CW} . This completes the proof. \Box

Lemma 4.2. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the function $f : \Delta \rightarrow \mathbb{R}$ be a continuous function. Suppose that η_1 and η_2 satisfy condition (C) on X_1 respectively, on X_2 . Then for every $A, B \in X_1$ and $V = A + \eta_1(B, A)$, $C, D \in X_2$ and $W = C + \eta_2(D, C)$ the function f is operator s-preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} if and only if the function

$$\varphi_{x,A,B,C,D}(t,\lambda) = \langle f(A + t\eta_1(B,A), C + \lambda\eta_2(D,C)) x, x \rangle,$$

is s-convex on the co-ordinates on $[0, 1]^2$ *for every* $x \in H$ *with* || x || = 1.

Proof. Suppose that f is s-operator preinvex on the co-ordinates for operators $[A, B] = \{A + t\eta_1(B, A)\} \times$

 $[C, D] = \{C + \lambda \eta_2(D, C)\}$. Then for any $t_1, t_2, \lambda_1, \lambda_2 \in [0, 1]$ and $\alpha_i, \beta_i \ge 0$ with $\alpha_i + \beta_i = 1$ for i = 1, 2 we drive

$$\begin{split} \varphi_{x,A,B,C,D}(\alpha_{1}t_{1} + \beta_{1}t_{2}, \alpha_{2}\lambda_{1} + \beta_{2}\lambda_{2}) \\ &= \langle f\left(A + (\alpha_{1}t_{1} + \beta_{1}t_{2})\eta_{1}(B,A), C + (\alpha_{2}\lambda_{1} + \beta_{2}\lambda_{2})\eta_{2}(D,C)\right)x, x \rangle \\ &= \langle f\left(\alpha_{1}\left(A + t_{1}\eta_{1}(B,A)\right) + \beta_{1}\left(A + t_{2}\eta_{1}(B,A)\right), \\ \alpha_{2}\left(C + \lambda_{1}\eta_{2}(D,C)\right) + \beta_{2}\left(C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &\leq \alpha_{1}^{s}\alpha_{2}^{s}\langle f\left(A + t_{1}\eta_{1}(B,A), C + \lambda_{1}\eta_{2}(D,C)\right)x, x \rangle \\ &+ \alpha_{1}^{s}\beta_{2}^{s}\langle f\left(A + t_{1}\eta_{1}(B,A), C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &+ \alpha_{2}^{s}\beta_{1}^{s}\langle f\left(A + t_{2}\eta_{1}(B,A), C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &+ \beta_{1}^{s}\beta_{2}^{s}\langle f\left(A + t_{2}\eta_{1}(B,A), C + \lambda_{2}\eta_{2}(D,C)\right)x, x \rangle \\ &= \alpha_{1}^{s}\alpha_{2}^{s}\varphi_{x,A,B,C,D}(t_{1},\lambda_{1}) + \alpha_{1}^{s}\beta_{2}^{s}\varphi_{x,A,B,C,D}(t_{1},\lambda_{2}) \\ &+ \alpha_{2}^{s}\beta_{1}^{s}\varphi_{x,A,B,C,D}(t_{2},\lambda_{1}) + \beta_{1}^{s}\beta_{2}^{s}\varphi_{x,A,B,C,D}(t_{2},\lambda_{2}). \end{split}$$

It shows that $\varphi_{x,A,B,C,D}$ be *s*-convex on the co-ordinates on $[0,1]^2$. Let now $\varphi_{x,A,B,C,D}$ is *s*-convex on the co-ordinates on $[0,1]^2$ and $C_1 := A + t_1\eta_1(B,A) \in P_{AV}, C_2 := A + t_2\eta_1(B,A) \in P_{AV}, D_1 := C + \lambda_1\eta_2(D,C) \in P_{CW}$, respectively $D_2 := C + \lambda_2\eta_2(D,C) \in P_{CW}$. Fixed $\alpha, \beta \in [0,1]$. By (4.1), we have

$$\begin{split} &\langle f\left(C_{1} + \alpha \eta_{1}(C_{2}, C_{1}), D_{1} + \beta \eta_{2}(D_{2}, D_{1})\right) x, x \rangle \\ &= \langle f\left(A + (\alpha t_{2} + (1 - \alpha)t_{1})\eta_{1}(B, A), C + (\beta\lambda_{2} + (1 - \beta)\lambda_{1})\eta_{2}(D, C)\right) x, x \rangle \\ &= \varphi_{x,A,B,C,D}(\alpha t_{2} + (1 - \alpha)t_{1}, \beta\lambda_{2} + (1 - \beta)\lambda_{1}) \\ &\leq (1 - \alpha)^{s}(1 - \beta)^{s}\varphi_{x,A,B,C,D}(t_{1}, \lambda_{1}) + (1 - \alpha)^{s}\beta^{s}\varphi_{x,A,B,C,D}(t_{1}, \lambda_{2}) \\ &+ \alpha^{s}(1 - \beta)^{s}\varphi_{x,A,B,C,D}(t_{2}, \lambda_{1}) + \alpha^{s}\beta^{s}\varphi_{x,A,B,C,D}(t_{2}, \lambda_{2}) \\ &= (1 - \alpha)^{s}(1 - \beta)^{s}\langle f\left(A + t_{1}\eta_{1}(B, A), C + \lambda_{1}\eta_{2}(D, C)\right) x, x \rangle \\ &+ (1 - \alpha)^{s}\beta^{s}\langle f\left(A + t_{2}\eta_{1}(B, A), C + \lambda_{2}\eta_{2}(D, C)\right) x, x \rangle \\ &+ \alpha^{s}(1 - \beta)^{s}\langle f\left(A + t_{2}\eta_{1}(B, A), C + \lambda_{2}\eta_{2}(D, C)\right) x, x \rangle \\ &+ \alpha^{s}\beta^{s}\langle f\left(A + t_{2}\eta_{1}(B, A), C + \lambda_{2}\eta_{2}(D, C)\right) x, x \rangle \\ &+ \alpha^{s}(1 - \beta)^{s}\langle f\left(C_{1}, D_{1}\right) x, x \rangle + (1 - \alpha)^{s}\beta^{s}\langle f\left(C_{1}, D_{2}\right) x, x \rangle \\ &+ \alpha^{s}(1 - \beta)^{s}\langle f\left(C_{2}, D_{1}\right) x, x \rangle + \alpha^{s}\beta^{s}\langle f\left(C_{2}, D_{2}\right) x, x \rangle. \end{split}$$

Hence, *f* is operator *s*-preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and respect to η_2 on η_2 -path P_{CW} . This completes the proof. \Box

If s = 1 we have a similar result for the operator preinvex on the co-ordinates.

Lemma 4.3. Let $\Delta = X_1 \times X_2 \subset \mathbb{R}^n \times \mathbb{R}^n$ and $X_1, X_2 \subseteq B(\mathbb{R}^n)_{sa}$ be two invex sets with respect to $\eta_1 : X_1 \times X_1 \rightarrow B(\mathbb{R}^n)_{sa}$ and $\eta_2 : X_2 \times X_2 \rightarrow B(\mathbb{R}^n)_{sa}$. Then, the function $f : \Delta \rightarrow \mathbb{R}$ be a continuous function. Suppose that η_1 and η_2 satisfy condition (C) on X_1 respectively, on X_2 . Then for every $A, B \in X_1$ and $V = A + \eta_1(B, A)$, $C, D \in X_2$ and $W = C + \eta_2(D, C)$ the function f is operator preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} if and only if the function

 $\varphi_{x,A,B,C,D}(t,\lambda) = \langle f(A + t\eta_1(B,A), C + \lambda\eta_2(D,C)) x, x \rangle$

is convex on the co-ordinates on $[0, 1]^2$ *for every* $x \in H$ *with* || x || = 1.

We now derive two dimensional version of Hermite-Hadamard type inequalities.

Theorem 4.4. Suppose that a continuous function $f : \Delta \subset \mathbb{R}^2 \to \mathbb{R}$ is operator preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} for all 2-tuples of selfadjoint operators in the domain of f acting

on any Hilbert spaces X_1, X_2 . If η satisfies Condition C, we have following inequalities

$$\begin{aligned} &f\left(\frac{2A+\eta_{1}(B,A)}{2},\frac{2C+\eta_{2}(D,C)}{2}\right) \\ &\leq \frac{1}{2}\left[\int_{0}^{1}f\left(\frac{2A+\eta_{1}(B,A)}{2},C+\lambda\eta_{2}(D,C)\right)d\lambda + \int_{0}^{1}f\left(A+t\eta_{1}(B,A),\frac{2C+\eta_{2}(D,C)}{2}\right)dt\right] \\ &\leq \int_{0}^{1}\int_{0}^{1}f(A+t\eta_{1}(B,A),C+\lambda\eta_{2}(D,C)dtd\lambda \\ &\leq \frac{1}{4}\left[\int_{0}^{1}f(A,C+\lambda\eta_{2}(D,C))d\lambda + \int_{0}^{1}f(B,C+\lambda\eta_{2}(D,C))d\lambda \\ &+\int_{0}^{1}f(A+t\eta_{1}(B,A),C)dt + \int_{0}^{1}f(A+t\eta_{1}(B,A),D)dt\right] \\ &\leq \frac{f(A,C)+F(A,D)+f(B,C)+f(B,D)}{2}, \end{aligned}$$
(4.2)

where $(A, C), (A, D), (B, C), (B, D) \in B(X_1) \times B(X_2)$ with spectra in Δ .

Proof. Since the spectrum of $A + t\eta_1(B, A)$ and $C + \lambda\eta_2(D, C)$ are contained in the intervals $[A, A + t\eta_1(B, A)]$ and $[C + \lambda\eta_2(D, C)]$ respectively, and f is continuous, the operator valued integrals $\int_0^1 f(A, C + \lambda\eta_2(D, C)) d\lambda$, $\int_0^1 f(B, C + \lambda\eta_2(D, C)) d\lambda$, $\int_0^1 f(A + t\eta_1(B, A), C) dt$ and $\int_0^1 f(A + t\eta_1(B, A), D) dt$ exists. This implies

$$f\left(\frac{2A + \eta_1(B, A)}{2}, C + \lambda\eta_2(D, C)\right) \le \int_0^1 f(A + t\eta_1(B, A), C + \lambda\eta_2(D, C))dt$$

$$\le \frac{f(A, C + \lambda\eta_2(D, C)) + f(B, C + \lambda\eta_2(D, C))}{2}.$$

Integrating this inequality on [0, 1] over λ , we deduce

$$\int_{0}^{1} f\left(\frac{2A + \eta_{1}(B, A)}{2}, C + \lambda\eta_{2}(D, C)\right) d\lambda \leq \int_{0}^{1} \int_{0}^{1} f(A + t\eta_{1}(B, A), C + \lambda\eta_{2}(D, C)) dt d\lambda$$

$$\leq \frac{1}{2} \left[\int_{0}^{1} f(A, C + \lambda\eta_{2}(D, C)) d\lambda + \int_{0}^{1} f(B, C + \lambda\eta_{2}(D, C)) d\lambda\right].$$
(4.3)

By a similar argument we get

$$\int_{0}^{1} f\left(A + t\eta_{1}(B, A), \frac{2C + \eta_{2}(D, C)}{2}\right) dt \leq \int_{0}^{1} \int_{0}^{1} f(A + t\eta_{1}(B, A), C + \lambda\eta_{2}(D, C)) dt d\lambda$$

$$\leq \frac{1}{2} \left[\int_{0}^{1} f\left(A + t\eta_{1}(B, A), C\right) dt + \int_{0}^{1} f\left(A + t\eta_{1}(B, A), D\right) dt\right].$$
(4.4)

Summing the inequalities (4.3) and (4.4) and dividing by 2, we get the second and the third inequalities in

(4.2)

$$\begin{aligned} &\frac{1}{2} \left[\int_{0}^{1} f\left(\frac{2A + \eta_{2}(B,A)}{2}, C + \lambda \eta_{2}(D,C)\right) d\lambda + \int_{0}^{1} f\left(A + t\eta_{1}(B,A), \frac{2C + \eta_{2}(D,C)}{2}\right) dt \right] \\ &\leq \int_{0}^{1} \int_{0}^{1} f(A + t\eta_{1}(B,A), C + \lambda \eta_{2}(D,C)) dt d\lambda \\ &\leq \frac{1}{4} \left[\int_{0}^{1} f(A, C + \lambda \eta_{2}(D,C)) d\lambda + \int_{0}^{1} f(B, C + \lambda \eta_{2}(D,C)) d\lambda \right. \\ &+ \int_{0}^{1} f(A + t\eta_{1}(B,A), C) dt + \int_{0}^{1} f(A + t\eta_{1}(B,A), D) dt \right] \end{aligned}$$

Also one can observe

$$\int_{0}^{1} f\left(\frac{2A + \eta_{1}(B, A)}{2}, C + \lambda\eta_{2}(D, C)\right) d\lambda \ge f\left(\frac{2A + \eta_{1}(B, A)}{2}, \frac{2C + \eta_{2}(D, C)}{2}\right),$$
$$\int_{0}^{1} f\left(A + t\eta_{1}(B, A), \frac{2C + \eta_{2}(D, C)}{2}\right) dt \ge f\left(\frac{2A + \eta_{1}(B, A)}{2}, \frac{2C + \eta_{1}(D, C)}{2}\right)$$

which give, by addition, the first inequality in (4.2). Finally, by the same inequality we can also state

$$\begin{split} &\int_{0}^{1} f\left(A, C + \lambda \eta_{2}(D, C)\right) d\lambda \leq \frac{f(A, C) + f(A, D)}{2}, \\ &\int_{0}^{1} f\left(B, C + \lambda \eta_{2}(D, C)\right) d\lambda \leq \frac{f(B, C) + f(B, D)}{2}, \\ &\int_{0}^{1} f\left(A + t\eta_{1}(B, A), C\right) dt \leq \frac{f(A, C) + f(B, C)}{2}, \\ &\int_{0}^{1} f\left(A + t\eta_{1}(B, A), D\right) dt \leq \frac{f(A, D) + f(B, D)}{2}, \end{split}$$

which give, by addition, the last inequality in (4.2). Thus the proof is complete. \Box

Theorem 4.5. Suppose that continuous functions $f, g : \Delta \subset \mathbb{R}^2 \to \mathbb{R}$ are operators (h_1, h_2) -preinvex on the coordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} for all 2-tuples of selfadjoint operators in the domain of f, g acting on any Hilbert spaces X_1, X_2 . Then for any selfadjoint operators $(A, C), (A, D), (B, C), (B, D) \in$ $B(X_1) \times B(X_2)$, we have the inequalities

$$\begin{split} &\int_0^1 \int_0^1 \langle f(A + t\eta_1(B, A), C + \lambda \eta_2(D, C)) x, x \rangle \langle g(A + t\eta_1(B, A), C + \eta_2 \lambda(D, C)) x, x \rangle dt d\lambda \\ &\leq \langle f(A, C) x, x \rangle \langle g(A, C) x, x \rangle \int_0^1 \int_0^1 h_1^2 (1 - t) h_2^2 (1 - \lambda) dt d\lambda \\ &+ \langle f(A, C) x, x \rangle \langle g(A, D) x, x \rangle \int_0^1 \int_0^1 h_1^2 (1 - t) h_2(\lambda) h_2(1 - \lambda) dt d\lambda \end{split}$$

$$+ \langle f(A, C)x, x \rangle \langle g(B, C)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}(t)h_{1}(1-t)h_{2}^{2}(1-\lambda)dtd\lambda + \langle f(A, C)x, x \rangle \langle g(B, D)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}(t)h_{1}(1-t)h_{2}(\lambda)h_{2}(1-\lambda)dtd\lambda + \langle f(A, D)x, x \rangle \langle g(A, C)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}^{2}(1-t)h_{2}(\lambda)h_{2}(1-\lambda)dtd\lambda + \langle f(A, D)x, x \rangle \langle g(A, D)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}^{2}(1-t)h_{2}^{2}(\lambda)dtd\lambda + \langle f(A, D)x, x \rangle \langle g(B, C)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}(t)h_{1}(1-t)h_{2}(\lambda)h_{2}(1-\lambda)dtd\lambda + \langle f(A, D)x, x \rangle \langle g(B, D)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}(t)h_{1}(1-t)h_{2}^{2}(\lambda)dtd\lambda + \langle f(A, D)x, x \rangle \langle g(B, D)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}(t)h_{1}(1-t)h_{2}^{2}(1-\lambda)dtd\lambda + \langle f(B, C)x, x \rangle \langle g(A, D)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}(t)h_{1}(1-t)h_{2}(\lambda)h_{2}(1-\lambda)dtd\lambda + \langle f(B, C)x, x \rangle \langle g(B, C)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}^{2}(t)h_{2}^{2}(1-\lambda)dtd\lambda + \langle f(B, C)x, x \rangle \langle g(B, D)x, x \rangle \int_{0}^{1} \int_{0}^{1} h_{1}^{2}(t)h_{2}(\lambda)h_{2}(1-\lambda)dtd\lambda$$

Proof. The demonstration is immediate taking into account that $f, g : \Delta \subset \mathbb{R}^2 \to \mathbb{R}$ are operators (h_1, h_2) -preinvex on the co-ordinates and integrating inequality over $t, \lambda \in [0, 1]$. \Box

The coming theorems correspond to special cases $h_1(t) = t^s$, $h_2(\lambda) = \lambda^s$, $h_1(t) = t^{-s}$, $h_2(\lambda) = \lambda^{-s}$ and $h_1(t) = t$, $h_2(\lambda) = \lambda$ respectively.

Theorem 4.6. Suppose that continuous functions $f, g : \Delta \subset \mathbb{R}^2 \to \mathbb{R}$ are Breckner type of operators s-preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} for all 2-tuples of selfadjoint operators in the domain of f, g acting on any Hilbert spaces X_1, X_2 . Then for any selfadjoint operators $(A, C), (A, D), (B, C), (B, D) \in B(X_1) \times B(X_2)$ we have the inequalities

$$\int_{0}^{1} \int_{0}^{1} \langle f(A + t\eta_{1}(B, A), C + \lambda\eta_{2}(D, C))x, x \rangle \langle g(A + t\eta_{1}(B, A), C + \eta_{2}\lambda(D, C))x, x \rangle dt d\lambda$$

$$\leq \frac{1}{(2s+1)^{2}} \cdot U(A, B, C, D) + [\mathbb{B}(s+1, s+1)]^{2} \cdot V(A, B, C, D) + \frac{\mathbb{B}(s+1, s+1)}{2s+1} \cdot P(A, B, C, D),$$
(4.6)

holds for any $x \in H$ *with* || x || = 1*, where*

$$U(A, B, C, D) = \langle f(A, C)x, x \rangle \langle g(A, C)x, x \rangle + \langle f(A, D)x, x \rangle \langle g(A, D)x, x \rangle + \langle f(B, C)x, x \rangle \langle g(B, C)x, x \rangle + \langle f(B, D)x, x \rangle \langle g(B, D)x, x \rangle$$

$$(4.7)$$

$$V(A, B, C, D) = \langle f(A, C)x, x \rangle \langle g(B, D)x, x \rangle + \langle f(A, D)x, x \rangle \langle g(B, C)x, x \rangle + \langle f(B, C)x, x \rangle \langle g(A, D)x, x \rangle + \langle f(B, D)x, x \rangle \langle g(A, C)x, x \rangle$$
(4.8)

$$P(A, B, C, D) = \langle f(A, C)x, x \rangle \langle g(A, D)x, x \rangle + \langle f(A, C)x, x \rangle \langle g(B, C)x, x \rangle + \langle f(A, D)x, x \rangle \langle g(A, C)x, x \rangle + \langle f(A, D)x, x \rangle \langle g(B, D)x, x \rangle + \langle f(B, C)x, x \rangle \langle g(A, C)x, x \rangle + \langle f(B, C)x, x \rangle \langle g(B, D)x, x \rangle + \langle f(B, D)x, x \rangle \langle g(A, D)x, x \rangle + \langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle.$$
(4.9)

2834

(4.5)

Proof. Since *f*, *g* are operator Breckner type of *s*-preinvex on the co-ordinates, for every $t, \lambda \in [0, 1]$ we have

$$\begin{split} &\langle f(A + t\eta_{1}(B, A), C + \lambda\eta_{2}(D, C))x, x \rangle \langle g(A + t\eta_{1}(B, A), C + \eta_{2}\lambda(D, C))x, x \rangle \\ &\leq \langle ((1 - t)^{s}(1 - \lambda)^{s}f(A, C) + (1 - t)^{s}\lambda^{s}f(A, D) + t^{s}(1 - \lambda)^{s}f(B, C) + t^{s}\lambda^{s}f(B, D))x, x \rangle \\ &\quad \cdot \langle ((1 - t)^{s}(1 - \lambda)^{s}g(A, C) + (1 - t)^{s}\lambda^{s}g(A, D) + t^{s}(1 - \lambda)^{s}g(B, C) + t^{s}\lambda^{s}g(B, D))x, x \rangle \\ &= (1 - t)^{2s}(1 - \lambda)^{2s}\langle f(A, C)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + (1 - t)^{2s}\lambda^{s}(1 - \lambda)^{s}\langle f(A, C)x, x \rangle \langle g(A, D)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}(1 - \lambda)^{s}\langle f(A, C)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(A, C)x, x \rangle \langle g(B, D)x, x \rangle \\ &\quad + (1 - t)^{2s}\lambda^{s}(1 - \lambda)^{s}\langle f(A, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + (1 - t)^{2s}\lambda^{2s}\langle f(A, D)x, x \rangle \langle g(A, D)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(A, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, C)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, C)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, C)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, C)x, x \rangle \langle g(A, D)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, C)x, x \rangle \langle g(A, D)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(A, C)x, x \rangle \\ &\quad + t^{s}(1 - t)^{s}\lambda^{s}(f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, C)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, D)x, x \rangle \\ &\quad + t^{s}\lambda^{s}(1 - \lambda)^{s}\langle f(B, D)x, x \rangle \langle g(B, D)x, x \rangle \\ &\quad$$

Integrating both sides of (4.10) over $t, \lambda \in [0, 1]$, we get the required inequalities (4.6), which completes the proof of Theorem 4.6. \Box

For s = 1 we have similar theorem of Theorem 4.6 for f, g are operators preinvex on the co-ordinates.

Theorem 4.7. Suppose that continuous functions $f, g : \Delta \subset \mathbb{R}^2 \to \mathbb{R}$ are operators preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} for all 2-tuples of selfadjoint operators in the domain of f, g acting on any Hilbert spaces X_1, X_2 . Then for any selfadjoint operators $(A, C), (A, D), (B, C), (B, D) \in B(X_1) \times B(X_2)$ we have the inequalities

$$\int_{0}^{1} \int_{0}^{1} \langle f(A + t\eta_{1}(B, A), C + \lambda\eta_{2}(D, C))x, x \rangle \langle g(A + t\eta_{1}(B, A), C + \eta_{2}\lambda(D, C))x, x \rangle dt d\lambda$$

$$\leq \frac{4U(A, B, C, D) + V(A, B, C, D) + 2P(A, B, C, D)}{36}$$
(4.11)

holds for any $x \in H$ with ||x|| = 1, where U(A, B, C, D), V(A, B, C, D), P(A, B, C, D) are given to (4.7), (4.8) and (4.9).

Theorem 4.8. Suppose that continuous functions $f, g : \Delta \subset \mathbb{R}^2 \to \mathbb{R}$ are Godunova-Levin type of operators *s*-preinvex on the co-ordinates with respect to η_1 on η_1 -path P_{AV} and η_2 on η_2 -path P_{CW} for all 2-tuples of selfadjoint operators in the domain of f, g acting on any Hilbert spaces X_1, X_2 . Then for any selfadjoint operators $(A, C), (A, D), (B, C), (B, D) \in B(X_1) \times B(X_2)$ we have the inequalities

$$\begin{split} &\int_{0}^{1} \int_{0}^{1} \langle f(A + t\eta_{1}(B, A), C + \lambda \eta_{2}(D, C))x, x \rangle \langle g(A + t\eta_{1}(B, A), C + \eta_{2}\lambda(D, C))x, x \rangle dt d\lambda \\ &\leq \frac{1}{(1 - 2s)^{2}} \cdot U(A, B, C, D) + [\mathbb{B}(1 - s, 1 - s)]^{2} \cdot V(A, B, C, D) + \frac{\mathbb{B}(1 - s, 1 - s)}{2s + 1} \cdot P(A, B, C, D), \end{split}$$

(4.10)

holds for any $x \in H$ with ||x|| = 1, where U(A, B, C, D), V(A, B, C, D) and P(A, B, C, D) are given by (4.7), (4.8) and (4.9) respectively.

Acknowledgements

Authors would like to thank editor and anonymous referee for his/her valuable suggestions and comments.

References

- M. Alomari and M. Darus, The Hadamard's inequality for s-convex function of 2-variables on the co-ordinates, Int. J. Math. Anal. 2(13), 629-638(2008).
- [2] S. S. Dragomir, On Hadamard's inequality for convex functions on the co-ordinates in a rectangle from the plane, Taiwanese J Math., 4, 775-788, (2009).
- [3] S. S. Dragomir, *The Hermite-Hadamard type inequalities for operator convex functions*, Appl. Math. Comput. **218**(3)(2011), 766-772.
- [4] S. S. Dragomir, C. E. M. Pearce, Selected topics on Hermite-Hadamard inequalities and applications. Victoria University, Australia (2000).
- [5] T. Furuta, J. Mićić Hot, J. Pečarić and Y. Seo, Method in Operator Inequalities. Inequalities for Bounded Selfadjoint Operators on a Hilbert Space, Element, Zagreb, 2005.
- [6] A. G. Ghazanfari, M. Shakoori, A. Barani, S. S. Dragomir, Hermite-Hadamard type inequality for operator preinvex functions, arXiv 1306.0730v, 2013.
- [7] A. Ben-Israel, B. Mond, What is invexity?, J. Austral. Math. Soc. Ser. B, 28, 1-9, (1986).
- [8] A. Kilbas , H. M. Srivastava, J. J. Trujillo, Theory and applications of fractional differential equations, Elsevier B.V., Amsterdam, Netherlands, (2006).
- [9] M. A. Latif and S. S. Dragomir, Some Hermite-Hadamard type inequalities for functions whose partial derivatives in absolute value are preinvex on the co-ordinates, Facta Univ. Ser. Math. Inform. 28, 257-270, (2013).
- [10] B. Meftah, K. Boukerrioua, T. Chiheb, New Hadamard's inequality for (s1, s2)-preinvex functions on co-ordinates, Kragujevac J. Math. 39(2), 231-254, (2015).
- [11] R. E. Megginson, An introduction to Banach space theory, Graduate Texts in Mathematics, vol. 183, Springer-Verlag, New York, 1998.
- [12] M. A. Noor, G. Cristescu, M. U. Awan, Generalized fractional Hermite-Hadamard inequalities for twice differentiable s-convex functions, Filomat. 29(4), 807-815, (2015).
- [13] M. Matłoka, On some Hadamard-type inequalities for (h₁, h₂)-preinvex functions on the co-ordinates, Journal of Inequalities and Applications 2013, 2013:227.
- [14] S. R. Mohan and S. K. Neogy, On invex sets and preinvex functions, J. Math. Anal. Appl. 189, 901-908(1995).
- [15] M. A. Noor, K. I. Noor, M. U. Awan, J. Li, On Hermite-Hadamard type inequalities for h-preinvex functions. Filomat. 28(7), 1463-1474, (2014).
- [16] J. E. Pečarić and S. S. Dragomir, A generalization of Hadamard's inequality for isotonic linear functionals, Rad. Mat. 7(1991), no. 1, 103-107.
- [17] M. Z. Sarikaya, On the Hermite-Hadamard-type inequalities for co-ordinated convex function via fractional integrals, Integr. Transf. Spec. Func., 25(2), 134-147, (2014).
- [18] Shu Hong Wang, Xi Min Liu, Hermite-Hadamard type inequalities for operator s-preinvex functions, J. Nonlinear Sci. Appl., 8(2015), 1070-1081.
- [19] S. H. Wang, Hermite-Hadamard type inequalities for operator convex functions on the co-ordinates, J. Nonlinear Sci. Appl., 10(2017), 1116-1125.